
K
A

OPERATOR'S MANUAL

KKEEEEPP  RREEAADD  AANNDD  UUNNDDEERRSSTTAANNDD  TTHHEE  OOPPEERRAATTOORR’’SS  MMAANNUUAALL
AANNDD  SSAAFFEETTYY  IINNFFOORRMMAATTIIOONN  BBEEFFOORREE  OOPPEERRAATTIINNGG  TTHHIISS  MMAACCHHIINNEE!!

BPD290VF



our





BPD290VF

Swing Over Bed 11 in

Swing Over Cross Slide 6.49 in

Distance Between Centers 27.5 in

Width of Bed 7.086 in

Hole Through Spindle 1.496 in

Taper of Spindle Bore MT5

Range of Cross Feed 0.0015~0.0056 in/r

Range of Longitudinal Feeds 0.0025~0.012 in/r

Maximum Compound Slide Travel 3.1 in

Maximum Cross Slide Travel 5.51 in

Maximum Cross Slide Travel 22 in

Tailstock Spindle Travel 3.1 in

Taper in Tailstock Spindle MT3

Motor 1.0KW

55.1 in

28.7 in

38.58 in

370KGS



4

TABLE OF CONTENTS 

LIMITED WARRANTY………………… …...…………..……………………………………. 1 

SAFETY WARNINGS …………………………………………………………………………  2 

SPECIFICATIONS …………………………………………………………………………….  3 

TABLE OF CONTENTS …………….………………………………………………….…….. 4 

CONTENTS OF SHIPPING CONTAINER ……………………………………..…………...  5

UNCRATING AND CLEAN-UP ………………………………………………………………  6 

FOUNDATION DRAWING ……………………………………………………………………. 6 

GENERAL DESCRIPTION..…………………………………………………………………... 7 

CONTROLS..…………………………….…………………………………………………….. 9 

OPERATION …………………………………………………………………………………….11 

LATHE ACCESSORIES………………………………………………………………………...16

ADJUSTMENT. ……… ……………………….…………………………………………….…..18

LUBRICATION ……………… ……..……………….………………………………………….19 

ELECTRICAL CONNECTION  …...………………………………………….. ……………. 20 

MAINTENANCE …...…………..… …………………………………………..………………..21 

TRUBLE SOLUTION ………..…...………..……………………………………………….…..22 



BPD290VF

1     Dead Center MT5

1     Dead Center MT3

5     Hex Socket Wrench 

3     Double End Head Wrench



6
.2

3
''

1
8

.6
6

''

0
.4

6
''

50.43''

32.9''

41.06''











11

OPERATI ON 

Replacement of Chuck 

The head spindle holding fixture is cylindrical. Loose 
three set screws and nuts (A, Fig.17, only two are 
shown) on the lathe chuck flange to remove the chuck. 
Position the new chuck and fix it using the same set 
screws and nuts. 

Tool Set-Up 

Clamp the turning tool into the toolholder. 

The tool must be clamped firmly. When turning, the 
tool has a tendency to bend under the cutting force 
generated during the chip formation. For best results, 
tool overhang should be kept to a minimum of 3/8” or 
less. 

The cutting angle is correct when the cutting edge is in 
line with the center axis of the work piece. The correct 
height of the tool can be achieved by comparing the 
tool point with the point of the center mounted in the 
tailstock. If necessary, use steel spacer shims under 
the tool to get the required height. (Fig. 18) 

Change H/L Speed 

1. Unscrew the two fastening screws (B, Fig.19) and
remove the protective cover.

2. To selection A or B according to your requirement，A 

is low speed, B is high speed. ( Fig. 20)

Caution: we suggestion our customers to select 
low speed position to work, it is could provides 
stronger torque for working! 

Belt Adjusted 

Loosen the four nuts and screws (C, Fig. 20) to 
remove the plate of mounting motor and position! 

Fig. 17 

Fig. 18 

Fig. 19 

C

Fig. 20 

A

B

wang
线条

wang
线条

wang
线条

wang
线条



feed table and screw the gearwheels onto the
quadrant again.



4



5

0.0078'' to 0.011'' to the left and right alternately in order to



6

Fig.31) showed on the chuck and chuck flange.



7



8





BPD290VF Variable Speed Lathe is rated at 1KW, 110V only. ConfirmThe



21



2



BPD290VF



BPD290VF

Drilling Capacity ...............................................................................................    0.787''

End Mill Capacity  ...............................................................................................   0.63''

Face Mill Capacity   ............................................................................................   2.48''

Spindle Taper   ...................................................................................................    MT2

Motor  ....................................................................................................         600W ,110V

 Spindle Stroke    ................................................................................................    1.968''

Working Surface of Table .............................................................................       10.6''*5.9''

T-Slot Size ..........................................................................................................    0.39''

We





e

25



600W 110V



27







BPD290VF



No. Parts No. Description Specification Qty
1 1 Label 1
2 2 Screw Ф4x10 6
3 3 Bolt 2
4 4 Nut M10 4
5 5 Nut M10 2
6 6 Spindle 1
7 7 Key 8x45 1
8 8 Gasket 1
9 9 Bearing 1

10 10 Headstock 1
13 13 Screw M8x25 2
14 14 Bearing 2007109E 1
15 15 Gasket 1
16 16 Bush 1
17 17 Gear 1
18 19 Belt Gates 730 1
19 20 Spindle Pulley 2
20 21 Set Screw M5x12 1
21 22 Washer 2
22 23 Nut 1
23 24 Screw 4
24 25 Bracket 1
25 26 Screw 4
26 27 Washer 4
27 28 DC Motor 1.0KW 1
28 30 Motor Pulley 1
29 31 1
3
31
32

0 3
33
34

2
Set Screw

1
1
1

Head Stock
Belt Cover

Bracket Plate

2

BPD290VF





BPD290VF



BPD290VF



BPD290VF



 BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF



BPD290VF




